Analytical Chemistry

Oxidation-Reduction
Titration
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5.1.1 Nernst Equation
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OH- H* MnO, + 8 H* + Se = Mn?* + 4H,0
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Equilibrium constant
Conditional equlllbrlum constant
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5.2.2
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Catalyzer, catalyzed reaction
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Induction, Induced reaction, inducer

2MnOj +10CI~ +16H" = 2Mn?* +5Cl, +8H,0

MnOj +5Fe®" +16H* = 2Mn** +5Fe*" +8H,0
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Induction

MnOj +5Fe* +16H* = 2Mn** +5Fe*" +8H,0

Mn (VI), Mn (V), Mn (1V), Mn (11I)

2MnO;, +10CI~ +16H" = 2Mn** +5Cl,, +8H,0
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Problems

1. TIron (III) will react with iodide ion in the reaction

217 + 2Fet =1, + 2Fe®*

What is the equilibrium constant for this reaction?

2. The logarithms of the successive stepwise formation
constants of the ammonia complexes of silver are
IgK, = 3.2, IgK, = 3.8. Calculate the conditional
potential of a silver electrode in a NH,-NH,NO,
buffer of total concentration 0.10 mol/L. and the pH
=10.00. Take pK, of NH,7=9.26, and assume
activity coefficients of unity.
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